1. Před kinem postávaly hloučky lidí debatující o filmu, který právě shlédly.
2.Příští týden už budeme mít půlku prázdnin za sebou.
3. V počasí nastal čtvrtého dne obrat, obloha se zatáhla a slunce až do konce pobytu nevysvitlo.
4.Škoda, že nepřijel, protože jsme s ním počítali.
5. Ty hodinky, co mě stály tolik peněz, nejdou dobře.
6.Moje kamarádka, která bydlí nedaleko, se  včera večer stavila na kus řeči.
7. Náhle se spustil liják.
8. Průměrný úhrn ročních srážek je až  400 mm.


1. There were groups of people standing around  outside  the cinema and discussing the film Theky had just seen.
2. Next week we’ll have been  half way through our holidays.
3. On the fourth day there was a sudden change in weather : the  sky was overcast and the sun did not appear  till the end of our stay.
4. It’s a pity (shame) he didn’t come  because we counted on him.
5. The watch  which cost me so much money doesn’t keep good time.
6. [bookmark: _GoBack]A friend of mine who lives nearby dropped in for a chat last night.
7. All of a sudden, there was a heavy downpour.
8. The average yearly rainfall is as much as 400mm.
